
������������������������������������
��

�
		���
��	�������������
		  �	�� �­���� ����������
�­�����������������
���

���� ����� ��� ��������� ���� �� �������
����������������������������

����
	�������������������


���������������������������������������
�����������������������������


	�� ������� ���� ������� ���� ������ ���� ��
������� ������ ��� ������ ����� ������ ����
������������������������
 ��������������������������������������������

��������������� ������

������������������������ ��������� ���� �������� ��������� ����
����������

�
�����������������
��������������������������������������
�� ������������������������������������������������������������������������������������
�
��­���� ���� ���� ������ ��� ������������ ����� ��������� ���� ������ ������ ��� ����� ����� ��������� �� ���� ����
����������������������������

�������������������������������������������������������������������
�
����������������������������������������������������������������������������������������


���������������������������������
��������������������������������������������������������������������������������������������������
�����������������������������������������������������������������������


­��������������������������������������������������������������������������������������������������
�����������������������������������


���������������
­�������������������������������������������������������������������������������������
���������������������������������������������������������������������������������������

������������������� ������������������������������������������������������
�	����������������������
����������������������������������������������
�	��������������������������������������������������������
��������
�������������������������������������������������������������������������������������������
�����������������


��
����������
�� ������������������������������������������

����������������������������������

��­������������������������������������������������


�� ���
��� ����� ���� �������� ����������� ������� ���� ��� �������� ������� �������� �������� ����������
� ���� ����
������������������������������������������������������������������������������������
�­��������������
��������������������������������������������������������������������������������
����������������������
���������������������������������������������
������������������������������������������������������
��������������������������������������������������������������������������������������������������
�������
�

����� ���

���� ����� ������� ��������� ���� ����� ���������� ��� ����� ����� ��� ��� �������� ������� ��� ����� ���������
��������������������������������������������������������������������������������������
�	����������������
����������������������������������
�
�������������������������������������������������������������������������������������������

Water proof Preservative

���������������������������������������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������������������������������������������

�
		���
��	������������� 
���������������������������������������������������������������������������

­������ �� ����� ��������� �� ���������
������� �� ���� ��������� ��  ����������

x2
���������������������������������������
������


2mm Drill bit

������������ ���������� ���� ���� ������
������ ���� ������ ������ ���� ������� ����
���������������������������


�������
������ ������ ���� ����� ����� ������� ����
�������������� �������� ��� ���������� ����
�������������������������������������������
���� ������
� � �������� ��������� �������� ���
����� ������� ����� �������� ����� ���
��������������������������


������� ��� �������� ���� ������
����������� ��� ����������� ���� ��������
��������������


 �������������
�����������������
�������������������������
����������������������
��

��������������������������������
���������������������������������
��������������������������������
����������������������������

��������

����������������������

�����������������

��������
���������������

�������

MADE IN GREAT BRITAIN



�
		���
��	������������� 
���������������������������������������������������������������������������

����������

����������������������������������������������������������������������������

�������������������������������������������������������

 ���������������������������������������������������������������������������������


 ��������������������������������������������


 �����������������������������������������������
���������������������������
�����
	������������������������	������
������������	�������������
����	��

�������������������������������������������������������������������������


������������������������������������������������������������������


�����������������������������������������������������������������������������������������
����������


����������������������������������������������������	����

	�����������������������������������������������������������������


����������������������������������������������������������������������������������
�����

����
 ��������

������
������
���������������������
�����
�������������
�����������������������������
	�����������
��������
������������
�������������
�������������� �������	���
����������
������

��������������­�������
����

�����������������������

­������������
��������

	�������������������	��������
	������­��������������	���������
	���������������������
��������������������������

������������������������������������
��

������­������

���

��� ���� ���� ������� ����� ����� ����� ������������ ����� ���
���������� ������� �������� ��� ���� ���� ��������� ������� ���
��������������������
�

����������������������������������������������������������

�����������������������������������������


��������
�����������
��������������������
��
��������������

 �
������������������
������
�����������
������������
��
���

����� ���� ����� ����� ������� ��� ������� ������������ ��������
����� ����� ����� ����������������� ���� ������������
�������


�����

ANY QUESTIONS?
Scan the QR code to contact 
us via our customer portal.



������������������������������������
��


���������������������������������������������������������������������������
������������������������������������������������������������������������������������������������������������������

Some steps within this set of instructions come with an added video guide for your 
convenience. These can be accessed via the QR code and used to aid you in constructing that 
step. See below for how to use.

You can also �nd all the videos on our youtube channel:
 https://www.youtube.com/@merciagardenproducts8716/videos 

ACCESSING VIDEO GUIDES...

1.  Find the QR code within the instruction step...

2. Open camera app...

3. Scan QR code...

4. Watch the video...

On your personal smart device (phone, tablet etc), open your camera app or QR code scanner 
app.

To scan the QR code, hold the camera over the QR code so that it can be seen on the screen. 
Once the QR code has been registered, follow the prompts on your device to open the video. 
(This will vary depending on your device.)
Please note: Ensure to use the back camera of your smart device as this will scan the QR code more 
accurately.  

The video guide will now be displayed on your smart device. 

Parts Needed-  No. QTY 1 
     No. QTY 1 
     No. QTY 1

Step.....

Within the instruction step, there will be an icon in the top right that has a QR code in. This is 
where the video can be accessed from. 
Please note: not every step has a video guide. 

Disclaimer: The Log Cabin constructed in the video guides may be 
constructed di�erently to your building. Please ensure to read your 
instructions carefully to avoid error. 

ACCESSING VIDEO GUIDES...



������������������������������������
�	


���������������������������������������������������������������������������

Overall Dimensions:
Width = 4536mm 
Depth = 3651mm 
Height = 2663mm

Base Dimensions: 
Width = 4318mm 
Depth = 3318mm 

Log Boards Contents:

Starter Board - 44x66x4500mm QTY 2
LB44RT66-A-4500mm

1

2

4

5

6

7

8

Log Board - 44x120x3500mm QTY 38
LB44-A-3500mm

Log Board - 44x120x483mm QTY 36
LB44-B-483mm

Log Board - 44x120x232mm QTY 36
LB44-C-232mm

Finisher Board - 44x45x4500mm QTY 2
LB44RG45-A-4500mm

Log Board - 44x120x4500mm QTY 1
LB44-AD-4500mm (2 x window, 1 x door cut out)

Log Board - 44x120x4500mm QTY 19
LB44-A-4500mm

3

Gable QTY 2
AI-0644RANE4535FGDD2TW-G-V1

0644RAUPVC4535FGDD2TW-V1 Tip: Labelling your parts, using a pencil and masking tape, may help 
you to identify them easier when you need them. NO.1 STARTER BOARD

Missing parts?

?
Scan the QR code to visit our 
customer portal where you can 
quickly raise any missing or 
damaged parts and get a 
replacement sent out ASAP. 



������������������������������������
��


���������������������������������������������������������������������������

Fixing Kit Contents:

Felt

20

2mm Spacer QTY 5
PI-07-0208 (20x100x2mm)

21

*This part will be longer than needed and requires cutting to size when used. This will be 
explained when required within the instruction step.  
Note: one piece may be required to be cut into multiple di�erent sizes. Do not dispose of 
o�-cuts until the building is fully constructed as they may be needed in another step.

9

10

11

12

13

14

15

Floor Bearer - 44x58x3318mm QTY 4
F4458-3318mm-PT

Floor Bearer - 44x58x2043mm QTY 26
F4458-2043mm-PT

Purlin - 45x120x4504mm QTY 5
F45120-A-4504mm

Roof Board - 16x121x1862mm QTY 84
MB16-1862mm

Floor Board - 16x121x3226mm QTY 39
MB16-3226mm

Eaves Frame - 27x44x4504mm QTY 2
F2744-4504mm

Fascia - 16x120x2300mm QTY 4*
S16120-2300mm

16

17

Storm Brace - 44x27x2000mm QTY 8 
F2744-2000mm

18

Closure Trim - 16x28x2400mm (approx length) QTY 13*
S1628-2400mm

Plastic Vent QTY 4
PI-07-0237

19

Fascia - 16x120x2000mm QTY 4*
S16120-G-2000mm (1 x angled cut)

Door Contents:

2322

24

25

Clear Silicone QTY 2
ESDXL30ACC099

UPVC Double Doors QTY 1
(Morticed for lock)
PI-19-0116 White
PI-19-0117 Oak
PI-19-0118 Anthracite

26

27

28

31

Glass 521mm x 1628mm QTY 2
PI-19-0144

Door Frame Bottom - 88x60x1628mm QTY 1 
AI-0644UPVCLOGDDBF-V1

Door Frame Top - 98x105x1632mm QTY 1 
AI-0644UPVCLOGDDTF-V1

Door Frame Left - 88x60x2067mm QTY 1 
AI-0644UPVCLOGDUFL-V1

Door Frame Right - 88x60x2067mm QTY 1  
AI-0644UPVCLOGDUFR-V1

End View

End View

End View

End View

Cill - 150mm QTY 1
PI-19-0156 White
PI-19-0157 Oak
PI-19-0158 Anthracite

29

Cill End Cap - 150mm QTY 6
PI-19-0156 White
PI-19-0157 Oak
PI-19-0158 Anthracite

Colour Matched Silicone QTY 1
ESDXL30ACC109 -  White
ESDXL30ACC110 -  Oak
ESDXL30ACC111 - Anthracite

32

Rain Guard - 28x44x1520mm QTY 1
RG2844-1520mm

30



������������������������������������
�



���������������������������������������������������������������������������

Felt Tacks x 30070mm Screw x 108

Screw Pack.

40mm Screw x 797

30mm Screw x 94

90mm Bolt Set x 16

There may be extra screws present in the pack. 

80mm Screw x 8 20mm Screw x 8

90mm Screw x 104

Window Contents:

33 34

UPVC Window QTY 2
PI-19-0134 White
PI-19-0135 Oak
PI-19-0136 Anthracite

Window Frame QTY 2
AI-0644UPVCDGWF808X2072-V1

Glass 
598mm x 1785mm QTY 2
PI-19-0150

36

Cill - 150mm QTY 2
PI-19-0162 White
PI-19-0163 Oak
PI-19-0164 Anthracite

35

38

Plastic Packers 
PI-07-0239

Rain Guard - 28x44x710mm QTY 2
RG2844-710mm

37

Pre-assembly

*Please note: 
Each board interlocks at either end in a staggered pattern.

Before securing ensure that the boards are �tted properly in their respective tongues and grooves.

Before assembly, please make sure you have a suitable base ready to install 
your building onto.



������������������������������������
��


���������������������������������������������������������������������������

Step 1
Parts Needed - No. 9 QTY 4
                                 No. 10 QTY 4

Lay the bearers (No. 9 & 10) onto a �rm and level base (free from areas where standing water can collect) ensuring the 
bearers are �at and level and the ends are �ush, as shown.

Ensure to lay the bearers so the widest face (58mm) is positioned on the �at, and the smaller face (44mm) is positioned 
as the height, as shown. 

Fix the bearers together using 2x90mm screws per corner.

Once secured, ensure the bearers are square by measuring from corner to corner, making sure the measurements are 
equal. If the bearers are not aligned equally, unscrew, adjust and re-align accordingly. 

Use this method to assemble two base frames. 

16x90mm Screws
Important: Pre-drill before �xing screws.

10

10

58mm 44m
m

90mm 
screw

Tape Measure Drill / Pre drillSpirit level

Pre drill 
holes

9

9

10

10

9

9

Step 2
Parts Needed - No. 10 QTY 22

Following the same method shown in the previous step, arrange 11 bearers (No. 10) inside the assembled 
frame, ensuring each piece is �ush and level. 

Ensure to lay the bearers so the widest face (58mm) is positioned on the �at, and the smaller face (44mm) is 
positioned as the height, as shown. 

*Ensure there is an equal amount of space between each bearer.

Secure each of the bearers in place by screwing through the outside framing into the framing behind using 
2x90mm screws for each end of the bearer, as shown.

Use this method to assemble two base frames.

88x90mm Screws
Important: Pre-drill before �xing screws. 

1010
10

1010
10

10
10

10
10

10

10

10

9

1010
10

1010
10

10
10

10
10

10

90mm 
screw

Tape Measure Drill / Pre drillSpirit level

Pre drill 
holes




���������������������������������������������������������������������������

������������������������������������
��

Step 3

Once the two base frames have been assembled (if you have not yet assembled your base frames, please refer to steps 
1 & 2)  position them together, ensuring they are �ush and level, as shown.

Secure the framing together using 12x70mm screws, ensuring to stagger the screws to avoid collision. 

12x70mm Screws
Important: Pre-drill before �xing screws. 70mm 

screw
Drill / Pre drillSpirit level

Pre drill 
holes

Step 4
Parts Needed - No. 1 QTY 2
                                 No. 2 QTY 2

Place the starter boards (No. 1) on to the front and back of the assembled bearers and lightly position the �rst two 
log boards (No. 2) into the notches as shown.

Ensure the boards sit square on the base using the same method used in Step 1. Measure corner to corner, making 
sure the measurements are equal.

Once the boards are square, lift up the log boards (No. 2) and �x the starter boards in place by screwing through the 
notch into the bearer below, using 1x70mm screw per notch. 

Note: Use a mallet and a scrap piece of wood to gently persuade the log boards into place.

4x70mm Screws
Important: Pre-drill before �xing screws.

2

2

1

1

70mm 
screw

Drill / Pre drill

Pre drill 
holes

Rubber Mallet




���������������������������������������������������������������������������

������������������������������������
��

2

4

3

Step 5
Parts Needed - No. 2 QTY 12
                                 No. 3 QTY 6
                                 No. 4 QTY 12
                                           
Following the method shown in the illustration, lay the �rst 6 boards (No. 2, 3 & 4) o� of the 
starter boards to create your �rst level.

*Ensure that the boards are level and �ush with each other as you lay each one.

2

4

Start by placing the front and back boards, interlocking them with the side boards. Then place the next side boards, 
interlocking with the front and back boards. Continue this method until you have placed 6 boards o� of the starter 
boards on each side, as shown.

Rubber Mallet

Step 6
Parts Needed -  No. 24 QTY 1
      No. 25 QTY 1
      No. 26 QTY 1
      No. 27 QTY 1

Arrange the left, right, top & bottom door frames (No. 24, 25, 26 & 27) onto a �at and level surface. 

Secure the top and bottom frames to the uprights using 2x80mm screws per corner, ensuring the screws do NOT 
protrude through the front of the door framing.

8x80mm Screws
Important: Pre-drill before �xing screws. 

The door frame top has a 
protruding framing piece. This 
indicates the external side of 

the frame.

25

27

25

27

24

2724

*Assembled frame front view*

26

27

25

24

Drill / Pre drill

80mm 
screw

Pre drill 
holes




���������������������������������������������������������������������������

������������������������������������
���

Step 7
Parts Needed -  No. 5 QTY 12
                                  No. 33 QTY 2

a

b

a

b

Once you have laid 6 boards (o� of the starter) locate the assembled window frames (No. 33) onto the front 
corners of the log cabin, as shown in the illustration.

Ensure the window frames are resting on top of the starter board and the log boards (No. 4) are located �ush into 
one side of the window frame.

Once the window frames are in position, place six of the log boards (No. 5) �ush into the other side of each 
window frame, securing them in place.

*Ensure that the boards are level and �ush with each other as you lay each one.

Please note: At this point in the construction of your log cabin, the walls and windows will be unstable. Take 
extra care to support them until they are stable. 

4

4

5
5

33

33
Rubber Mallet

Step 8
Parts Needed -  No. 5 QTY 24

a

b

a

b

Once the window frames have been positioned, slide the door frame onto the front of the log cabin, as 
shown in the illustration.

Ensure the door frame is resting on top of the starter board and the log boards (No. 5) are located �ush into 
either side of the frame.

**If you have not yet assembled your door frame please refer to step 6.

Once the door frame is in position, place the remaining log boards (No. 5) �ush into either side of the door 
frame as shown, securing it in place.

*Ensure that the boards are level and �ush with each other as you lay each one.

Please note: At this point in the construction of your log cabin, the walls, windows and door will be 
unstable. Take extra care to support them until they are stable. 

5

5

5

5

Rubber Mallet




���������������������������������������������������������������������������

������������������������������������
���

Step 9
Parts Needed - No. 2 QTY 12
                                 No. 3 QTY 6
                                 No. 4 QTY 12  

Following the method shown in the illustration, lay the next 6 boards (No. 2, 3 & 4) onto the log cabin to  create 
your second level.

*Ensure that the boards are level and �ush with each other as you lay each one.

Please note: At this point in the construction of your log cabin, the walls will be unstable. Take extra care to 
support them until they are stable.  

2

4

3

2

4

Rubber Mallet

Step 10
Parts Needed - No. 2 QTY 12
                                 No. 3 QTY 6
                                 No. 4 QTY 12  

Following the method shown in the illustration, lay the next 6 boards (No. 2, 3 & 4) onto the log cabin to  create your 
next level.

*Ensure that the boards are level and �ush with each other as you lay each one.

Please note: At this point in the construction of your log cabin, the walls will be unstable. Take extra care to 
support them until they are stable.  

2

4

3

2

4

Rubber Mallet




���������������������������������������������������������������������������

������������������������������������
���

Step 11
Parts Needed - No. 3 QTY 1
                                 No. 6 QTY 1 

Following the method shown in the illustration, lay the next layer of boards (No. 3 & 6) onto 
the front and back of the log cabin.

*Ensure that the boards are level and �ush with each other as you lay each one. 

3

6

Rubber Mallet

Step 12
Parts Needed - No. 8 QTY 2
                                 No. 19 QTY 4

Lay both Gables (No. 8) onto a �at and level surface and locate one Vent (No. 19) into each vent hole, as shown. 
Secure in place using 2x20mm screws per Vent. 

Flip the Gables (No. 8) over and position the remaining Vents (No. 19) into the opposite side of the Vent holes. Fix 
in place using 2x20mm screws per Vent. 

On one side of each gable, the vent will need to be slightly o�set to an angle to ensure the screws do not collide.

8x20mm Screws
Important: Pre-drill before �xing screws. 

19

8

19

8

19

Drill / Pre drill

20mm 
screw

Pre drill 
holes



������������������������������������
���


���������������������������������������������������������������������������

Step 13
Parts Needed - No. 8 QTY 2 

Following the method shown in the illustration, locate the Gables (No. 8) onto the log 
cabin.

*Ensure that the boards are level and �ush with each other as you lay each one.

Fix the gables to the boards below by screwing through the notch using 1x70mm screw per corner, as shown in the 
illustration. 

4x70mm Screws  
Important: Pre-drill before �xing screws. 

8

8

Rubber Mallet Drill / Pre drill

70mm 
screw

Pre drill 
holes

Step 14
Parts Needed - No. 7 QTY 2  

Following the method shown in the illustration, lay the Finisher boards (No. 7) onto 
the front and back of the log cabin. 

7

*Ensure that the boards are level and �ush with each other as you lay each one.

Fix each board to the one below by screwing through the notch using 1x70mm screw per corner, as shown in 
the illustration. 

4x70mm Screws  
Important: Pre-drill before �xing screws. 

7

Rubber Mallet Drill / Pre drill

70mm 
screw

Pre drill 
holes



������������������������������������
��	


���������������������������������������������������������������������������

Step 15
Parts needed - No. 11 QTY 5

Align the Purlins (No. 11) into the cut out notches on the Gables, ensuring they interlock.

Note: Use a mallet and a scrap piece of wood to gently �x the purlins into position.

Secure the roof purlins by screwing through the purlin into the gable (ensure to pre-drill to avoid the boards 
splitting) using 2x70mm screws per notch.

20x70mm Screws
Important: Pre-drill before �xing screws. 

11

11

11

11

11

Rubber Mallet Drill / Pre drill

70mm 
screw

Pre drill 
holes

Step 16
Parts needed - No. 12 QTY 84
                                 No. 21 QTY 5

a

b

a

12

Place the �rst two roof boards (No. 12) onto either side of the log cabin, making sure the boards are �ush to the 
end of the roof purlins. Once in position �x to each purlin and �nisher board below using 4x40mm screws per 
board.

Continue adding the roof boards along the roof, �xing each one into position using 4x40mm screws, making 
sure that each board is interlocked, �ush at the bottom and meets another at the top of the apex. *Ensure the 
roof boards meet at the top of the apex and leave an overhang at the bottom.

To ensure the roof boards are not laid too close together, use the 2mm spacers (No. 21) provided to create a 2mm 
gap. Adjusting the spacing between the boards allows the wood to swell in damp weather.

You have been issued with 84 roof boards, but you may only need to use 82. 

The last board will overhang past the end of the Purlins. Using a straight edge and a pencil, mark out a line as a 
guide.  

Saw along the pencil mark and remove the excess. Place the cut down boards back onto the roof and secure 
into place using 4x40mm screws per board.

336x40mm Screws
Important: Pre-drill before �xing screws.

b

a

40mm 
screw

Drill / Pre drillSaw

 

Pre drill 
holes



������������������������������������
���


���������������������������������������������������������������������������

Step 17
Parts Needed - No. 14 QTY 2

Ensuring the roof boards are �ush and level, locate the Eaves Frames (No. 14) to the underside of the roof boards at the 
front and back of the log cabin. Secure in place using 8x30mm screws per frame, as shown in the illustration.

16x30mm Screws 
Important: Pre-drill before �xing screws. 

14

14

14

Drill / Pre drill

30mm 
screw



������������������������������������
��



���������������������������������������������������������������������������

The cill (No. 28) for the bottom of the doors will be slightly larger than required, this will require cutting to 
size before �tting. Measure the bottom of the UPVC door frame (No. 22) and record the length. Using a 
pencil, mark the desired length minus the thickness of the two end caps (No. 29) and cut with a  saw.

Once cut, place onto the bottom of the frame opening and check the �t. Place the UPVC door frame (No. 22) 
central in the door opening. There should be a tolerance gap between the UPVC door (No. 22) and the frame 
at the top and either side. Measure the gap, this gap is to be distributed on all four sides using the packers 
(No. 38) provided.

Remove the UPVC frame and cill, place to one side. 

Apply clear silicone (No. 31) to the edge of the cill (No. 28), secure the end caps (No. 29) to both ends of the 
cill.

Place plastic packers (No. 38) along the bottom of the door frame which add up to half the vertical tolerance 
gap measured and then place the cill on top. Position the cill (No. 28) with the back edge �ush with the 
internal frame. Measure from the top of the cill to the top of the opening to ensure the gap is equal, measure 
in a few places along the cill to be sure.

Remove the cill (No. 28) and apply a clear silicone (No. 31) bead along each corner and a wiggled line along 
the full width. Place the cill (No. 28) down onto the area the silicone was applied, apply pressure to ensure 
the cill is sitting on the spacers.

Fix the cill (No. 28) to the door frame using 4 x 70mm screws, �xing through the �at area at the back of the 
cill. Ensure to pre-drill the screw holes and �nish the screw heads �ush with the cill surface.

4x70mm Screws
Important: Pre-drill before �xing screws.

Step 18
Parts Needed - No. 22 QTY 1
     No. 28 QTY 1
     No. 29 QTY 2
     No. 31 QTY 1
     No. 38 QTY 1

a

b

c

a

b

c

28

28

22

28

31

29

29

38
38

38
38

28
31

29

Drill / Pre drill

70mm 
screw

Pre drill 
holes

SawSpirit levelTape MeasureSealant 
application gun




���������������������������������������������������������������������������

������������������������������������
���

Apply beads of clear silicone (No. 31) along the �at face of the cill (No. 28), along the front, back and both 
sides.

Position the UPVC door frame (No. 22) onto the cill, the UPVC door frame should sit �ush with the internal 
wall. Use the plastic packers (No. 38) provided to place between the UPVC and the door frame. These stop 
the UPVC frame from bowing when the screws are �xed. Position multiple along the sides and top. 

Use a pen or a small thin implement to push the packers into place. 

Open the doors to expose the internal frame, the frame is not �xed in position and will require supporting. 
Along all four sides pre-drill four holes. Fill the screw holes with clear silicone (No. 31) and then �x the UPVC 
door frame (No. 22) to the door frame and the cill using 70mm screws.

Seal around the UPVC door frame, using the colour matched silicone (No. 32) apply a bead around both 
sides and the top of the frame. Be careful to apply a neat line which runs between the UPVC and timber 
frame.

Following the door installation, if you have any issues with the doors catching or not opening and 
closing smoothly, see pages 27 - 31 for adjustment advice. It is best to make alterations once the 
glass has been �tted. The weight of the glass can alter door positioning.

16x70mm Screws
Important: Pre-drill before �xing screws.

Step 19
Parts Needed - No. 22 QTY 1
     No. 28 QTY 1
     No. 31 QTY 1 
        No. 32 QTY 1
     No. 38 QTY 1

a

b

c

31

28

d

a

b

c

38

31

22Drill / Pre drill

70mm 
screw

Spirit levelSealant 
application gun

d

32




���������������������������������������������������������������������������

������������������������������������
���

The cill (No. 36) for the bottom of the windows will be slightly larger than required, this will require 
cutting to size before �tting. Measure the bottom of the UPVC window frame (No. 34) and record the 
length. Using a pencil, mark the desired length minus the thickness of the two end caps (No. 29) and cut 
with a saw.

Once cut, place onto the bottom of the frame opening and check the �t. Place the UPVC window frame 
(No. 34) central in the window opening. There should be a tolerance gap between the UPVC window 
(No. 34) and the frame at the top and either side. Measure the gap, this gap is to be distributed on all 
four sides using the packers (No. 38) provided.

Remove the UPVC frame and cill, place to one side. 

Secure the cill end caps (No. 29) to the cill (No. 36) using clear silicone (No. 31). 

Place plastic packers (No. 38) along the bottom of the window frame which add up to half the vertical 
tolerance gap measured and then place the cill on top. Position the cill (No. 36) with the back edge �ush 
with the internal frame. Measure from the top of the cill to the top of the opening to ensure the gap is 
equal, measure in a few places along the cill to be sure.

Remove the cill (No. 36) and apply a clear silicone (No. 31) bead along each corner and a wiggled line 
along the full width. Place the cill (No. 36) down onto the area the silicone was applied, apply pressure 
to ensure the cill is sitting on the spacers. Check the cill is �ush internally 

Fix the cill (No. 36) to the window frame using 3 x 70mm screws, �xing through the �at area at the back 
of the cill. Ensure to pre-drill the screw holes and �nish the screw heads �ush with the cill surface.

Repeat for both windows.

6x70mm Screws
Important: Pre-drill before �xing screws.

Step 20
Parts Needed - No. 29 QTY 4
     No. 31 QTY 1
     No. 34 QTY 2
     No. 36 QTY 2
     No. 38 QTY 1

34

34

a

b

c

a

b

c

36

36

29

34

31 38
38

38

36
36

31

2929

Drill / Pre drill

70mm 
screw

SawSpirit levelTape MeasureSealant 
application gun

Pre drill 
holes




���������������������������������������������������������������������������

������������������������������������
���

Apply beads of clear silicone (No. 31) along the �at face of the cill (No. 36), along the front, back and 
both sides.

Position the UPVC window frame (No. 34) onto the cill, the UPVC window frame should sit �ush with the 
internal wall. Use the plastic packers (No. 38) provided to place between the UPVC and the window 
frame these stop the UPVC frame from bowing when the screws are �xed.  Position multiples along the 
sides and top. 

Use a pen or a small thin implement to push the packers into place. 

Along the left and right sides pre-drill four holes and pre-drill three holes top and bottom. Fill the screw 
holes with clear silicone (No. 31) and then �x the UPVC window frame (No. 34) to the window frame and 
the cill using 70mm screws.

Seal around the UPVC window frame, using the colour matched silicone (No. 32) apply a bead around 
both sides and the top of the frame. Be careful to apply a neat line which runs between the UPVC and 
timber frame.

Repeat for both windows.

28x70mm Screws
Important: Pre-drill before �xing screws.

Step 21
Parts Needed - No. 31 QTY 1
     No. 32 QTY 1
     No. 34 QTY 2 
        No. 36 QTY 2
     No. 38 QTY 1

a

b

c

d

a

34

36
31

34

Drill / Pre drill

70mm 
screw

Spirit levelSealant 
application gun

b

c

d

38

32

31




���������������������������������������������������������������������������

������������������������������������
���

Internally on the UPVC doors (No. 22) there is beading attached which holds the glass (No. 23) in place once 
�tted. Remove the four pieces of beading, you may need to use a scraper between the beading and the frame 
to prise them o�.

The glass (No. 23) is slightly smaller than the opening. Add packers (No. 38) along the opening, these raise the 
bottom of the glass up and even out the tolerance gap above and below the glass. Place the glass (No. 23) into 
the opening on top of the packers. Add a packer (No. 38) at the top of the glass the same thickness as the 
bottom.

The glass will be unstable until the four pieces of beading have been re-�tted. 

Once the desired packers are in place ensure the glass sits central side to side as well as top and bottom.

Take the top piece of beading, starting in one corner gently re�t the beading using a small rubber mallet, 
working from one side to the other. 

Take care to only touch the beading with the mallet.

Before re�tting the bottom piece of beading ensure the packers will not obstruct, move them towards the 
front of the door frame. Then re�t in the same way the top piece was �tted working from one corner to the 
other.

Re�t the two pieces of beading which run down the sides starting in the top corners and working down to the 
bottom.

Repeat the same process for the second door and the two windows, using the window glass (No. 35).

Following the door installation if you have any issues with the doors catching or not opening and 
closing smoothly, see pages 27 - 31 for adjustment advice.

Step 22
Parts Needed - No. 23 QTY 2
     No. 35 QTY 2
     No. 38 QTY 1

ScraperRubber Mallet

a

b

c

a

38

38

b

c

35

35

23

23




���������������������������������������������������������������������������

������������������������������������
���

Step 23
Parts Needed - No. 13 QTY 39

a

b

13

Place the �rst �oor board (No. 13) inside the building �ush to the log board on one side. Continue adding the 
�oor boards (internally) making sure to interlock each individual board.

You have been issued with 39 �oor boards, but in reality you may only need to use 38.

*Do NOT secure the boards until the last board has been measured and cut.

Once a full board can no longer �t, measure the gap between the bottom of the tongue (on the last board 
placed) and the log board. Ensure to measure at multiple points along the board for added accuracy. 

Using a straight edge, mark out the measurement onto the last �oor board (No. 13), saw along the length and 
remove the excess. Mark the �nal board 2mm under the measurement; This will allow the timber to expand and 
contract correctly.

Once all the �oor boards are in position, secure each board into position using 11x40mm screws per board.

***Please Note: Ensure to screw  through each of the �oor boards into the �oor bearers.

429x40mm Screws
Important: Pre-drill before �xing screws.   

a b

40mm 
screw

Drill / Pre drill

Pre drill 
holes

Saw

Closure Trim

Internal

*Measure and cut the
closure trims to
�t the internal space.

Roof

Step 24
Parts needed - No. 17 QTY 6
    
Inside the building place the closure trim (No. 17) against the boarding and align with the roof as shown in the 
illustration. 

*Measure and cut the closure trims to �t the internal space.

Once in position �x each trim into place by pre drilling a pilot hole and using 6x30mm screws per trim, equally 
spacing them along the face of the board.

36x30mm Screws
Important: Pre-drill before �xing screws.

30mm 
screw

Drill / Pre drill

Pre drill 
holes

Saw

17




���������������������������������������������������������������������������

������������������������������������
���

Step 25
Parts needed - No. 17 QTY 7

Once the �oor has been laid arrange the closure trim (No. 17) around the outside edge of the �oor (internally), 
measure and cut down accordingly to best match the internal space.

Secure each trim section into place using 6x30mm spaced equally along the board as shown in the illustration.

*Do NOT �x the closure trim to the �oor boards.

42x30mm Screws
Important: Pre-drill before �xing screws. 

40mm 
screw

Drill / Pre drillSaw

17
17

Pre drill 
holes

Step 26
Parts needed - No. 20

Cut the Felt (No. 20) into �ve sheets measuring: 4600mm (L) X 1000mm (W).

Lay the sheets onto the roof in the order shown in the illustration. Ensure there is at 
least 50mm of overhanging Felt around each side of the building and that each sheet 
overlaps the next by at least 100mm.

Once the Felt is laid out, �x to the roof using felt tacks at 100mm intervals.

300 x Felt Tacks

1. 2.

3. 4.

5.

Cutting tool

20

100mm

HANDLE
WITH CARE

1 2

3

4

Felt 
tacks 




���������������������������������������������������������������������������

������������������������������������
���

Step 27
Parts Needed - No. 30 QTY 1
                                 No. 37 QTY 2

Attach the Rain Guards (No. 37) to the Window frames, ensuring to position the rain guards directly above the 
windows, �ush to the underside of the top framing, as shown. Make sure the rain guards are positioned centrally. 
Fix in place using 3x70mm screws per guard. 

Attach the Rain Guard (No. 30) to the Door frame, �xing in place onto the framing above the Door using 4x70mm 
screws.

10x70mm Screws
Important: Pre-drill before �xing screws. 

37

37

30

70mm 
screw

Drill / Pre drill

Pre drill 
holes

Step 28
Parts Needed - No. 15 QTY 4
                                 No. 16 QTY 4

a

b

Attach the Fascias (No. 16) to the sides of the log cabin (ensuring to trap the felt in between the Fascias) 
securing in place by screwing through the Fascia into the Purlin, Eaves frame, or log board behind using 
4x40mm screws per Fascia.

Once in place mark the excess Fascia with a pencil and trim the Fascias to follow the shape of the building as 
shown in the illustration.

Locate the Fascias (No. 15) to the front and back of the log cabin (ensuring to trap the felt in between the 
Fascias), ensuring they sit centrally to the cabin. Secure in place using 4x40mm screws per fascia, screwing 
through the Fascia into the Eaves frame behind.

Once in place, repeat the above method to trim the fascias to follow the shape of the building.

Ensure the fascias at the back of the log cabin sit level or lower than the felt to allow water to run o�. 

32x40mm Screws
Important: Pre-drill before �xing screws. 

a

b 15

16

16

15

16

16

15

15

40mm 
screw

Drill / Pre drillSaw

Pre drill 
holes

Pre drill 
holes




���������������������������������������������������������������������������

������������������������������������
��	

Step 29
Parts needed - No. 18 QTY 8

Arrange the storm braces (No. 18) around the building (internally), placing two storm braces per wall.  

*Ensure the storm braces are secured at the highest point possible on each side.

Fix in place using 2x90mm bolts per brace, making sure the washer & nut are tightened from the outside of the 
building.

The storm braces will need to be altered during the buildings life as the moisture content within the log boards 
changes.  The boards will expand during periods of high moisture (Winter) and shrink during periods of low moisture 
(Summer).

**Storm braces are required to be adjusted during changes in humidity to allow the building to expand and 
contract. To do this,  periodically loosen the bolts, adjust the storm brace position and re-tighten.

***Important: Ensure each bolt is tightened using a washer so as not to damage the log boards.

16x90mm Bolt Sets
Important: Pre-drill before �xing screws.

18

18

18

18

18

18

18

18

90mm
bolt

Drill / Pre drill

Pre drill 
holes

Pre drill 
holes

18

18

Step 30

Once constructed, apply a preserving treatment and a waterproo�ng treatment to your log cabin as soon as 
possible. This will help to protect your building and prevent decay. 

See page 25 for a full guide and instructions. 

Mixing stick Apply treatmentTreatment

Treatment

Paintbrush/sprayer/ 
roller

��������������������
Want to share your experience with us? 
Leave us a review on TrustPilot or Google.

Your reviews help other people �nd and trust our 
business, as well as helping to play an important role 
in our growth and improvement! 



	��������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������������
����������������

	����������������������������������������������������������������������
�

�������������������������������������������
�	�����������������������������������������
��������������������������������������������������������������������������������������


����� ���� ����� ��� ���� ����������� ����� ����� ������ ��� ����� ������� ��� �������� ������ ����
�������������������
���������������������������������������������������������������������
�������������������������������
����������������������������������������
�������������
���� �������� ����� ��� ��� ��� ����� ����� ���������������� ���� ����� ���� ������ �������� ��������
����������������
�������������������������������������
�

�������������������������������������������������������������������������������������������
�������������������������������������������������������������������������
�

����� ����� ���� ��������� ���������� ���� ������ ��� ���� �������� ������ ����������� �������
���������������������������������������������


�����������������������������

������������������������������������� ��������
��� ���������������������������������������������������������� ���������������������������������������������������
� �����������������������������
�������������������������������������������������������������������������������������������������
�
�����������������������������������������������������������������������������������������
�����������������������������������������������������������
�	��������������������������������������������������������������������������������������������������������������������������������
�����������������������������������������������


���������������������������������������������������������������������������������������������������������������������������������������������

�����������������������������������������������������������������������������������
�����������������������������������������������������������������������������������������������������������������


������������������������������������� 
���������������������������������������������������������������������������

�

������������� ���

�  ��������
���������� ���

ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

­������� ������������ ������� ��� ������ ����� ������� ��������� ������� ��� ����� ���
������������


­�������������������������������������������������������������������


�������� ���� ������ ��� �������� ����� ���� ������� ��� ���������������� ��� ���� ������
��������������������������������


 ������ �� ���� ���� ��� ������ ����� ������� ��������
� ��� ������� ��������� ������� �����
������������������������������������
�

������������������������������������������������������������������������������������
��������������������������������������������������������
���������������������������
��������������������������������������������������������


������������������������������������
���




��������

 �������������������������������������������������������������������������������������������
�������������������������������������������
�	���������������������������������������������
���������������������������������������������������������������������������


������

�������� ���� ��������� ���� ��������� ��� ���� �������� ��� ����� ���� �������� �������� ���� �����
�
���������������������������������������������������������
������������������������������������
�����������������������������


����

 ��������������������������������������������������������������������������
���������������
����������������������������������������
�

���������������

�������������������������������������������������������������������������������������
����
���������������������������������������������������������������������������������
�������������������


���

�������������������������������������������������������������������������������


��������������

��� �����������������������������������������������������������������������������
���������
�����������������������������������������������������������
���������������������
������������ �������� ���������� ��� ������ ���������� ���� ������������ ����������� ��������
������������������������������


����

���������������������������������������������������������������������������������������
�������������������������������������������������������������


������������

	������������������������������������������������������������������������������������������
������� ���� ���� ������� ��������� ��������� ���� ������� ����� ����� ����� ��������� ������� ����
��������� ��������
� 	��� ������������ �������������� �������� ��� �������������� �­������� ����
����������������������������������������������
��
�������������������������������������������������������������������������������


�

�

�

	

�




�

�

��

� ������

����������������������������������������������������������������������������������������
�������������������������������������������������������������
� �������������������������
������������������������������������������������������������������
�

������������������� �������������� �������������� � ���������������� �������������� ���� �������
���������������������������
��������������������������������������������������������������
�������������������������


������������

�����������������������������������������������������������������������������
� �������������
���������� ������ ���� ������� ������� ����� ���� �������
�  ����� ���� ������ ��� ����� ����
��������������������������������������������������������������
� �����������������������
����� �������� ���� ������ ��� ��� ������� ����� ��� �������� ������� ���� ������� ������ ��� ������
��������������������������������


����  ������ ���������� 
���������������������������������������������������������������������������

�����������
��������� �����������
���������������������������������������������������������������������������������������������
����������������������������������������������������������������������


�� ��������������������������������������������������������������������


�� ������������������������������������������������������������������������������������


�� �����������


���������������������������������������������������������������������������
�

�� ��������������������������������������������


������������������������¡���������������������������������������


��������������������������������������������������������������� ����������

������������������������������������
��




If your door is catching on the adjacent door or side frames, 
your doors need adjusting to the left or right:

Problem: Doors catching on the frame - sides. 

1 Unlock the doors and open. 

When open, you can see the back of the hinges, (if the doors open 
outwards this will be inside) where there are two screws inside 
the hinge. Use a screwdriver to unscrew the screws fully but do 
not remove. Use a �at head screwdriver to gently release the 
cover.

On the front of the hinge, pull open the released cover for each 
hinge.  Repeat for each hinge and close the doors. But don't lock.

Now the screws inside the hinge can be loosened to make the 
doors slack slightly. Use a Philips screwdriver to loosen the face on 
screws slightly (approx half a turn depending) on each hinge. 

Place the Allen key into the central screw and turn - you will see 
the mechanism move depending on which way you turn. Adjust 
this screw accordingly depending on which way the door needs 
to move  and do the same for each hinge accordingly. 
Note: Depending on which way the door is o�set (from the top of 
bottom) depends which way the screw should turned. 

Open the doors and check for catching. Check the gap between 
the door and lock catch is not too large and continue to adjust in 
the same way as step 5 if needed. 

Once all adjustments are complete, re-tighten the face on screws 
in each hinge to prevent further movement. 
Close the hinge covers ensuring they click into place and 
re-tighten the internal screws.  

2

3

4

5

6

7

2

3 4 5

7

1

������������������������������������
���

���������¡����������
��������� 
���������������������������������������������������������������������������

Philips 
screwdriver

Flat head 
screwdriver

Allen key set



Unlock the doors and open.

On the front of the doors, locate the part of the hinge that is 
attached to the frame, on the underside there are two small 
holes. 

Locate an Allen key into the hole closest to the frame, 
ensuring it catches the thread internally. 
Turn the key to the left or right to raise or lower your door 
height. Once you’re happy with the height, adjust on each 
hinge so the weight isn’t resting on only one hinge. 

Check the doors open and closes freely and that the lock 
mechanism still works. If more adjustments are needed, 
repeat the above steps. 

Problem: Doors catching on the frame - top or bottom. 
If your door is catching on the top or bottom frame, your doors need 
moving up or down.

1

2

3

4

2

3

������������������������������������
���

���������¡����������
��������� 
���������������������������������������������������������������������������

Allen key set



Unlock the doors and open.

Locate the latch on the inside of the secondary door or 
framing, with screws above and below it. 

Loosen the two screws slightly - DO NOT fully remove 
as it is very di�cult to get them back in - and see the 
latch is loosened and able to move more. 

Adjust the latch inwards slightly and re-�x the screws. 
Check how the door sits / movement and continue to 
adjust accordingly in the same way until there is no 
more movement.

Problem: Gaps, draughts, excessive movement between doors and framing:
If your doors are rattling or have excessive 
movement, the internal latch needs to be adjusted.

1

2

3

4

Unlock the doors and open.

Locate the cam mechanism on the inside of the 
master door - one at the top and one at the bottom.

Insert an Allen key into mechanism and spin either 
way. This will move the door forward or backwards in 
the casing. Do this on the top and bottom 
mechanism.

Adjust until you are happy with how the door sits, 
ensuring it isn’t too tight /close to the casing when the 
door is shut. (If the door is too tight then the handle 
wont move). Check the door opens and closes freely 
and the lock mechanism works, if not continue to 
adjust and check until happy. 

If your doors are rattling or have excessive 
movement, where the doors sit may need adjusting 
within the casing.

1

2

3

4

1 2 3 4

1 2 3 4

������������������������������������
���

���������¡����������
��������� 
���������������������������������������������������������������������������

Philips 
screwdriver

Allen key set



If your doors are not opening past 90°, the 
restrictors can be temporarily unlatched. 

Problem: Doors won’t open past 90 °.

1 Unlock the doors and open. When open, locate the restrictors at 
the top of the doors. This is a metal mechanism connecting the 
door to the door frame.

On the part of the mechanism that is connected to the door 
frame, there is a small button connecting the metal stay to the 
latch on the door frame. Push this button in and gently pull/slide 
the connecting stay down and out. It should still be connected to 
the door but loose from the door frame. 

Check to see if the door is able to open all the way back. If so, the 
door is now un-latched.

When you want to close the door, re-align the pin on the stay with 
the latch/runner on the door frame and push back up. You may 
need to push the button back in to do so. Once latched in, ensure 
the door is able to open and close freely and stops at 90°.

Ensure to re-attach the stay to the latch on the door frame 
BEFORE closing the door.

2

3

1

������������������������������������
���

���������¡����������
��������� 
���������������������������������������������������������������������������

4

2 3

4

What is a restrictor and why are they on the doors?

A restrictor is a mechanism which prevents the doors from 
opening wider than 90°. This aims to stop them from swinging 

open or slamming shut.

These restrictors should not be removed. They can be 
temporarily un-latched, allowing your doors to open wider.



Unlock and open the window - ensure to hold 
window open manually.

Locate the friction stay on the inside of the window

Use a screwdriver to tighten the screw by turning 
clockwise. Repeat on the opposite side of the frame. 

Check to see if the window stays opens - ensure to 
check at di�erent depths / positions - and continue 
to adjust if needed. 

Problem: Windows not staying open.
If your window is not staying open on its own, you 
may need to adjust the friction stays. 

1

2

3

4

2 3 4

Unlock and open the window - ensure to hold 
window open manually.

From the outside, locate the lock on the underside 
of the window.

Locate an Allen key into the screw and adjust 
accordingly - move in or out so it will catch - repeat 
across all screws.

Close and lock the window to check if the window 
latches correctly - adjust if needed.

Problem: Windows catching the lock.
If your window is not catching the lock mechanism, 
you may need to adjust the lock casement.

1

2

3

4

2 3

������������������������������������
���

���������¡����������
����������� 
���������������������������������������������������������������������������

Philips 
screwdriver

Allen key set



�����������������������������������������������������������������

������������������������	�����������������������������������������������������������
�������������������������������������������������������
�	���������������������������
������������ ������ ���������������������������������������� �����������������������
������� ��� ���� ����������� ������� ���������� ���������� ��� �����������
� ��� ����
���������������������������������������
�����������������������������������������
��������������������������������������������������������������������������
��

������������������������������������������������������������������������������������
������������������������
�����������������������������������������������������������
����
���������������������������������������������������������������������������������
��������������������������������������������������������������


�������������������������������������������������������������������������������
������ ��������������������������������������������������������������������������
����� ������������
�  ������������ ���� ����� ��� ���� ������� ���� ������ ������ �������
���������������������������
���������������������������������������������������������
�

	��������������������������������������������������������������������������������
������������������� ����� ����� ��� ������ ��� ������ ���� ������ ���� ��� ���������
�­�������
����������������������������������� ������ ��������������������������� ���������������
����������������������������������������������
���������������������������������������
����������������������������������������������������������������������������������
����������������������������������������������������������������������������������
��������


�������� ������� ���� ������ �� ���� ���� ������� ������ ������� ���� ������� ��� �����
��������������������������������������������������������������
�	�������������������
����������������������������������������������� ��������������� ����� �����������������
����������������������������������������������
��

����������������������������������������������������
��������������������������������������
��������
������������������������������������������������
����������������������������������������������������
���������
�����������������������������������������
�����������������������������������������
������������������������������


���������������������������������������������
�����������������������������������������������
����������� ���������������������
������������
��
��

������������������������������������������� ������������������������������������������
��������� ���� �������� ���� ����� ����� ����������
�­�� ���������� ������� ����������
���������������������������������������������¢����������


	��������������������������������������������������������������������
�	����������
������������������������������������������������������
�	�����������������������������
���������������������������������������������������������������


­������������������������������������������������������� ���������������������
����������������������������������������������������
�

�


����������������������������������������������

��������������������������������������������������������������������������������
���������������������������������������������������������������� ����������������
��������


­�������������� ���� ����������������������������������������������������� ������
��������������������������������������������������������


����������������������������������������������������������������

�¢������������������


���������������������������������� ����������� �������������������������������������
������������������������������������������������������������������������������������
����������������
�	��������������������������������������������������


����	�������������������������������������������������������������������������������
�����
���������������������������������������������������

��������� 	������� ���������� �� �������� �� ����������� ���������� ��� �������� ������
�������

����  ���������������� ������� ������ �� ���� ��������� ���������� ���� �������� ��
����������������������������������������


­�� ����� ���������� ������ �� �������� �������� ��� ���� ������� ���� �������� ��� ����
���������������������������������������������������������������������������������
�

����������������������������������������������������������������������������������


�

	 ���������������������������������������������

 �����������£������  ��������� 
���������������������������������������������������������������������������

�������������������������������������������������������������������������������������
������������������������������������������������
�	������������������������������������
�������������������������������� ��������� ���� �������������������� ��������� �����������
�����������������������������������������������������������������������������
�	�����
����������������������������������������£

������������������������������������������������������������������������������������������
�����������������������������������������������
�

����������������������

 �����������
 ����������������	������������
���� �������������������
���
������������
��
��

������������������������������������
���



������������������������������������������������������������������������������������
���������������������

	������������������������������������������������������������������������������
���������


	����������������������������������������������������������

�
��	��������������������������������������������������������������

�
��	����������������������������������������������������������������

¤
��������������������������������������������������������

�
� 	��� ��������� ���� ���� ����� ����������� ���� ������ ���� ��� ����������� ��� ����
���������������������������������������������
�
�
� � 	��� ��������� ���� ���� ����� �������� ��������� ��� ��� ���� ���� ���������������
�����������������������������������������������������������������������

�
� � 	��� ��������� ���� ���� ����� ��������� ������� ��� ���������� ��� ���� ���� ���������
������������

�
� � 	��� ��������� ���� ���� ����� �������� ��� �� ��������� ������ ����� ������ ������ ������
��������������������������������������������������������

¥
� � 	��� ��������� ��� ��� ���� ����� ������������ �� ����� �������� ��� ���� �������������
���������������������������������
��������������������������������������������������

¦
��	��������������������������������������������������������������������������������
�����������������������������������

��
��������������������������������������������������������������������������������
������������������������
�
��
��������������������������������������������������������������������������������
��������������������������


 �����������£����������� � ������������������

�������������������������������������������������������������������������������������������
����������� ���� ��� ������ ��� ���� ��������� �������� ��������
� 	���� ���������� ������� ������
��������������������������������������������������������
�
	�������������������������������������������������������������������������������������������
����������������� ������� ��� ����� ��������� ������������ ��� ��������� ���� ���������
���������

	��������������������������������������������������������������� ���������������������
����


	�����������������������������������������������������������

�
�	��������������������������������������������������������������

�
��	����������������������������������������������������������������

¤
��������������������������������������������������

�
��	����������������������������������������������������������������������������������
����������������������������������
�
�
� � 	��� ��������� ���� ���� ����� �������� ��������� ��� ��� ���� ���� ���������������
�����������������������������������������������������������������������

�
��	��������������������������������������������������������������������������������������

�
��	������������������������������������������������������������������������������������������
������������������������������������������

¥
��	����������������������������������������������������������������������������������������
����������
��������������������������������������������������

¦
��	��������������������������������������������������������������������������������������
����������������������������

��
��������������������������������������������������������������������������������������
������������������
�
��
� � ���� ������� ���� ����� ����� �������� ��� �������� �������� ����������� ������������ ���
��������������������������


����������������������� 
���������������������������������������������������������������������������

����������������������

�����������������

��������
���������������

�������

������������������������������������
���


